ﬂé Addition (Horizontal) Name:

Solve each problem. Answers

1) 5,423 + 582 = 1

2) 536 + 61 =

3 1,819 + 69 =

4 5242 + 524 = 6.
7.
5 864 + 21 =
8.
9.
6) 506 + 206 =

10.

7) 7,375 + 83 11

12.

8 46 + 5 =

13.

9 3408 + 41 1

15.

10) 9,781 + 8,089 =

1) 5,821 + 1,817 =

12) 605 + 460 =
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ﬂé Addition (Horizontal) Name:

Answer Key

Solve each problem. Answers
1) 5423 + 582 = 6,005 L 6,005
5 597
2) =
536 + 61 597 . 1888
4 5,766
3 1,819 + 69 = 1,888
5 885
4 5242 + 524 = 5,766 6 802
- 7,458
5 864 + 21 = 885
E— 8. 51
3,449
6) 506 + 206 = 802 %
0. 17,870
7) 7,375 + 83 = 7,458 n 7,638
12. 1,065
8 46 + 5 = 51
13, 7,221
90
9 3.408 + 41 = 3,449 14
15, S7
10) 9,781 + 8,089 = 17,870
1) 5,821 + 1,817 = 7,638
12) 605 + 460 = 1,065
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ﬂé Addition (Horizontal)

Name:
Solve each problem. Answers
7 N
1,888 7,458 3,449 6,005 17,870 1
802 51 5,766 597 885 2,
\. Y

1) 5,423 + 582 =

2) 536 + 61 =

3 1,819 + 69 =

4 5242 + 524 =

5 864 + 21 =

6) 506 + 206 =

7) 7,375 + 83

8 46 + 5 =

9 3,408 + 41

10) 9,781 + 8,089 =

10.

Math Modified
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